3922 407 40951;4 ASSY BOTTOM WIRELESS

Ref

© 00N OGS~ WN =

—_
o

726
727
729
733T
742T
744T
746
747
749

Description

BOTTOM ASSY

BOTTOM RAIL ASSY
BOTTOMPLATE
SHIELDING BOTTOM
RETAINER PLATE
SELFADHESIVE BUFFER
V-BRACKET

CAP TYPE DP250(2603)HEYMAN
SHIELDING BOTTOM
RETAINING PLATE

WASH STL ST 2,7X6,5

SPR WASH STL ST 2,6X5,1
HEX NUT STL ST M2,5
PAN SCR STL ST M3X6
CSK SCR STL ST M3X6
CSK SCR STL ST M3X10
WASH STL ST 3,2X7

SPR WASH STL ST 3,1X5,7
HEX NUT STL ST M3

Part 12nc

3922 407 40961
3922 407 38652
3922 404 32101
3922 404 32121
3922 404 32111
2822 030 90454
3922 404 22982
2422 015 09511
3922 404 33922
3922 404 33931
2522 600 27137
2522 613 12063
2522 401 09064
2522 201 08031
2522 203 04023
2522 203 04025
2522 600 27017
2522 613 12005
2522 401 09008

page: 1 -1

Service part

Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes

3/27/2008



